Tourism Insurance
Predicting Unhealthy Days in D.C.
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Background — D.C. Ducks and AQl

» D.C. Ducks

= Guided Tours of Washington DC

= Revenue directly tied to number [
of tourists— no tourists show up =

on days with unhealthy weather &

= Insurance to offset revenue loss B
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Issue — Minimizing the Cost of Insurance

s Dataset: three years worth of historical weather data
= April 1, 2005 — March 31, 2008
= Important: using Historical Forecasts vs. Actual Data
= 1,062 records
= 17 weather-related variables
= AQ]
= Partitioning to training (2 years) and validation (2 year)



Data Exploration and Processing
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Important Variables: Temperature, Wind Speed, Precipitation,
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= Model creati
= Discriminant Analysis, Logistic Regression and Classification Tree

on

= Selected: Classification Tree

= Ease of explanation and use

Validation Data scoring - Summary Report {Using Best Pruned Tree)

= Lowest validation error rate (23.22%)

Cutoff Prob Val for Success {Updaiable) |

0.5

Classification Confusion Mairix

Predicted Class

ActualClass

1

1
0

g1

32

190

Emor Report

Class

# Cases

# Emors

% Emorn

144
222

53
32

36.81
14.41

Cwverall

366

85

2322




Analysis and Recommendation

= |f D.C. Ducks can purchase insurance for only
those days during the year that it predicts will
have an AQl over 50, they can save $38,820 per
year.

= Costs to implement this:

= Coming up with accurate data for such a
prediction

= Developing and using the model

Xpected >-year Profit, selected days Insurance

Benefit of selected days insurance over blanket insurance




Questions?




